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cost on the basis of the following

Find the total overheads ofiPrbduct
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What is cost driver?
What is segment reporting? txphin the need of such

Discuss the benefits and weakness of Activity

Following statement position of

Particulars Wdar 2018 (units) YearWI9 (units)
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What is BEP? d*&%* (03 Marks)

What is target costing? What are its merits? #ha. 'o. (07 Marks)

prepare statements sf,owing the profit anaffisffipy Marginal and Abso#kkn Costing methods
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The annual Sverheads are aq^uflder:

Volume related activitpffi Rs. 5, 5 0,000.
Set up related costs Rs'.8ffi000.
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